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Statement I: Let ¢ =i+2j -3k and # =2i+j— k. Then the vector r
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Statement IT : In a triangle ABC. cos2 A +cos2B+cos2( = — %
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The number of integers, between 100 and 1000 having the sum of their digits
equals to 14. is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 23 Question Id : 68019114626 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
100 3R 1000 & &t YuIfepl, oM 3 &1 41 14 5. BT I=T &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114627 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

| | . l N |f I | 1 N | __ I t} ;.
a+l a+2 T a+1012 ) \21 43 65 T 20242023 = 2004 > G 8

If |

e
M
4

|
It
=
-
o
ot
=
-
b

equal to

Response Type : Numeric



Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 24 Question Id : 68019114627 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

|"i_l ! “_|'”L_'L |
21 &

==t 2.4l a

_____ 2024

el
o
-
|
I
=
-
£
4
=
-
el

L@+l ar2 " G+l01Z )
TR
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114628 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the set of all values of p, for which

; [ )
f(x] = (pz —6p +8) {mn“ 2x — cos” 2;;'] +2 (2 - ,’J]J.‘ + 7 does not have any
critical point. be the interval (a. b). Then 16ab is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :

1

Question Number : 25 Question Id : 68019114628 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

M1 p & T4 9H1. f5p fag
flx)= gpz —6p +8) (ssin2 2x —cos” 2:{'] +2(2-p)x+7 T 1t Hifds
[5G 81 5. 1 Y=Y, 3R (0. b) 1 Al 16ab TS ©

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 26 Question Id : 68019114629 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For a differentiable function f: R — IR, suppose f'(x) = 3f{x) + a. where a e R.
fl0)=1 and “}111 f(x)="7. Then 9f (-log.3) is equal to
X0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 26 Question Id : 68019114629 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

UP gha-1d Bad f:R— R P AU TFE£(x) = 3Ax) + o. T8I 0. e R,
0)=1TT_lim f(x)=7 81 dl 9f (-log_3) TRIER &
X—r—00

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114630 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the circle C : x? + 3? = 4 and the parabola P: * = 8x. If the set of all
values of o, for which three chords of the circle C on three distinet lines passing
through the point (@. 0) are bisected by the parabola P is the interval (p. g).

then (2g — p)? is equal to
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 27 Question Id : 68019114630 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



g C: x2 +)32 = 4 GUI WA P: 32 = 8x BT [GaR BT TS o b Fi T7I,
forTeh 1ot {6 (o 0) I BIBR S aTell ol 4 Y@13fl W g ¢ P d1H ol
%ﬁﬂﬂpmwﬁlﬁﬁﬂéﬁﬁﬁagmu 3R (p. q) B, Tl (2 — p)> WA

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114631 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let A. B and C be three points on the parabola y* = 6x and let the line segment 4B
meet the line L through C parallel to the x-axis at the point D. Let M and
N respectively be the feet of the perpendiculars from 4 and B on L. Then

K K . ." \'2 .
{% | is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 28 Question Id : 68019114631 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



A IRaed 32 = 6x TR A 164G 4. B AU C § 3R T ¢ 9 §HR o arail adl
x-S & HHIR @I L, TGS 4B Bl fég D W el 8 1 B4 Ul B @I L

TR SIS 7T oS & UG B MauT Nl i "1*“;};*‘” | SR E

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114632 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The square of the distance of the image of the point (6. 1. 5) in the

: x=1 v z=2 ¢k 5
line X - Y _Z"% from the origin is
3 2 4 =

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 29 Question Id : 68019114632 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

g (6. 1. 5) P! 2 Ayl P @ g gl e ai s

]

Response Type : Numeric

Evaluation Required For SA: Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114633 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let the inverse trigonometric functions take principal values. The number of real

9
: i . o _ T .
solutions of the equation 2 gjp Ly s 3cos | = % .18

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 30 Question Id : 68019114633 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

T Uideid e Uad e 9 014 od © | df GH IR0
I _ 2 .

2sin~ x +3cos |x:?:n: @ g de Bal Bl T8

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Physics Section A

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 68019114634 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The de-Broglie wavelength associated with a particle of mass m and energy E is

680191277
3

Online
Mandatory
20

20

80

Yes

0

1
680191367
Yes

null

h ! J2mE - The dimensional formula for Planck's constant 1z :

Options :

¥ gl _2
68019156891, [ML-T"]

21
68019156892, [ML-T™"]



12
68019156893, [ML™ " T77]

68019156894, [MLT -]

Question Number : 31 Question Id : 68019114634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

m GOOHA QYT E Holl & U HUI Y aG oI-s17al a1 a8 1,/ JamE & WD
e &1 el @ &

Options :

¥ g _2
68019156891, [ML-T -]

21
68019156892, [ML-T™"]

12
68019156893, [ML"T77]

68019156894, [MLT -]

Question Number : 32 Question Id : 68019114635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two cars are travelling towards each other at speed of 20 m s~} each. When the
cars are 300 m apart. both the drivers apply brakes and the cars retard at the rate of

2=k . .
2 m s7°. The distance between them when they come to rest s :
Options :

68019156895. 50 m



68019156896. 100 m
68019156897. 200 m

68019156898. 25 m

Question Number : 32 Question Id : 68019114635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& DR 20 HI/A D1 910 9 U g3 i AR A B I51 6 | 516 d Th gL 9 300
i &1 gl R g, a1 glgaR 2 1 92 @ &R 9 T 3RIMYd Bd gU 8P alld
g1 AT R RITF TP

Options :

68019156895. 50 m
68019156896. 100 m
68019156897. 200 m

68019156898. 25 m

Question Number : 33 Question Id : 68019114636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A nucleus at rest disintegrates into two smaller nucle1 with their masses in the ratio
of 2:1. After disintegration they will move :

Options :

68019156899, 11 the same direction with same speed.



68019156900, 1 opposite directions with speed in the ratio of 1:2 respectively.

68019156901, 11t opposite directions with speed in the ratio of 2:1 respectively.

68019156902, 11 opposite directions with the same speed.

Question Number : 33 Question Id : 68019114636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ARGy ¥ U 1S 2:1 & GoHM U § gl BI ] § fawfvsd gidr
2| foaus & S 3 fd B4t

Options :

68019156899, THH 42T YHM =10 4 |

68019156900, 1AIRId [GRT H HHE: 1:2 3{UId ® 916! &

68019156901, GURIT [GRIT H HHTT: 2:1 3IATd ® Il

68019156902, [AURId a2 & ga= 9@ 4|

Question Number : 34 Question Id : 68019114637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A 1 kg mass 1s suspended from the ceiling by a rope of length 4m. A horizontal
force 'F 1s applied at the mid point of the rope so that the rope makes an angle of
45° with respect to the vertical axis as shown in figure. The magnitude of F 1s :

W ey . >
(Assume that the system 1s in equilibrium and g = 10 m/s%)

/1117111410414 7 411/

£

A\

1 kg

Options :

68019156903. 10 N

)=

68019156904.

&

68019156905 10x+/2

68019156906. 1 NV

Question Number : 34 Question Id : 68019114637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ue 501 Soor &l 4 H TaTs @1 U T&I g1 SifelT € dedmn mar g | Wl
& O fawg W &S 90 F & SIAVanT 9 A S8R SHaleR 38 9 45° BT U5
®I0 §9dT o | F T URHT &:

(ogHT D YHGRT H HHSR adl g = 10 HI42) ;
L

ra

o
T,
1 kg
Options :

68019156903. 10 N

) =

68019156904.

&

1

g

68019156905, 10x+/

68019156906. 1 v

Question Number : 35 Question Id : 68019114638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A hydrogen atom 1n ground state 1s given an energy of 10.2 V. How many spectral
lines will be emitted due to transition of electrons ?

Options :

68019156907. 1



68019156908. 3
68019156909. 6

68019156910. 10

Question Number : 35 Question Id : 68019114638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BB S WRH] BT Ta TR F 10.2 €V ol 41 T3 ¢ | SAaeH & ShHU &
SHRU ol Waes! Y@ Jafold gift 2

Options :

68019156907. 1

68019156908. 3

68019156909. 6

68019156910. 10

Question Number : 36 Question Id : 68019114639 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A real gas within a closed chamber at 27°C undergoes the cyclic process as shown
in figure. The gas obeys PV° = RT equation for the path 4 to B. The net work done
in the complete cyele 1s (assuming R =8 J/mol K) :

N
P( N/ m’ ]2{} -
/N
£ bt < B
|
I | y
2 4 -
"> 1’[:}:“]

Options :

68019156911. 20 J

68019156912, —20 J
68019156913. 205 J
68019156914. 225 J

Question Number : 36 Question Id : 68019114639 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



U & 95 § 27°C R TP aIRaidd 19 Ya3id 3 & SR U 91 Ushd
T §1.4 9 BUY P o0 I/ P72 = RT GHIHRUT BT 3RRUI Bl o | Teh
Wﬁ%ﬁlﬁ@m%(ﬂﬁﬂ=ﬂlmolﬂj:

N
f"( N/ m’ ]2{1 — — —

10— = < B

Options:

68019156911. 20 J
68019156912. =20 J
68019156913. 205 J

68019156914. 225 J

Question Number : 37 Question Id : 68019114640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The energy released in the fusion of 2 kg of hydrogen deep in the sun is Ef and the
. . Ra . Ey .
energy released in the fission of 2 kg of UKE 7 The ratio E_” 15
)

approximately:

(Consider the fusion reaction as 4'H +2e——3 He + 2v + 6y + 26,7 MeV. energy

released in the fission reaction of 2°U is 200 Me per fission nucleus and Ny =
6.023x10%)

Options :



68019156915. 7.02
68019156916. 9.13
68019156917. 25.6

68019156918. 15.04

Question Number : 37 Question Id : 68019114640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 T 2 kg BIESIH & U H IEd FHoll By, AT 2 kg & 235U & fa@us— 4
S Foll £, 8 6@11?[2—:" T SRT6R 6:

(4'H +2e——3 He +2v + 6y + 26,7 MeV DI HaraH 3ifHfchal AR du 235U ol
fagus= affiiferar H ufd A1iie fGEUsd Iad Soll 200 MeV &,
N, =6.023x10%3)

Options :

68019156915. 7.62

68019156916. 9.13

68019156917. 25.6

68019156918. 15.04

Question Number : 38 Question Id : 68019114641 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A satellite of 10° kg mass 1s revolving in circular orbit of radius 2R. If 10°R ;
b

energy is supplied to the satellite. it would revolve in a new circular orbit of radius

(use g=10 m/s? . R =radius of earth)
Options :

68019156919. 2.5 R
68019156920. 3 R
68019156921. 4 R

68019156922. 6 R

Question Number : 38 Question Id : 68019114641 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10° TU1 5o &1 Udh 3998 2R Bod1 &1 U Fel & uReHu R g1 2 1 Ol
e 3 10 R S Gt veH 1 o o e o s @) € e 1 aRe
G

BT
e g= 10 A2, R =7t &t e

Options :

68019156919. 2.5 R

68019156920. 3 K

68019156921. 4 K

68019156922. 6 R



Question Number : 39 Question Id : 68019114642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The excess pressure inside a soap bubble 1s thrice the excess pressure nside a
second soap bubble. The ratio between the volume of the first and the second

bubble 1s:
Options:

68019156923.1: 3
68019156924.1 : 9
68019156925. 1 : 27

68019156926. 1 : 81

Question Number : 39 Question Id : 68019114642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U WG & gagel H iUy 16 gHR Tg gaga & < ey ae I
THI© | WH a7 [gaid gagd & 3MaaH! 1 Sd1d &

Options :

68019156923.1: 3

68019156924.1 : 9

68019156925. 1 : 27

68019156926. 1 : §1



Question Number : 40 Question Id : 68019114643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A spherical ball of radius 1x10~* m and density 10° kg/m> falls freely under
gravity through a distance h before entering a tank of water. If after entering in
water the velocity of the ball does not change. then the value of / 13 approximately:

(The coefficient of viscosity of water 1s 9.8x 1078 N s/im?)
Options :

68019156927. 2296 m
68019156928. 2249 m
68019156929. 2396 m

68019156930. 2518 m

Question Number : 40 Question Id : 68019114643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1x10~* m o0 au1 10° Lgmq‘a:lﬁﬁﬁm?ﬂﬂﬂaﬁ$%ﬁmﬁﬁ
qd h $aTs 3 Tod & &4l gad 39 9 ARl 31 afe o & wor o &
QORI AT SURafcld Il 1 <l & 1 T4 11 &

(Y1 T G U 9.8%1070 N s/m?)
Options :

68019156927, 2296 m

68019156928. 2249 m



68019156929. 2396 m

68019156930. 2518 m

Question Number : 41 Question Id : 68019114644 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The temperature of a gas is -78 C and the average translational kinetic energy of
its molecules i K. The temperature at which the average translational kinetic
energy of the molecules of the same gas becomes 2K 15 :

Options :

68019156931. 117°C
68019156932. 127°C
68019156933. —78°C

68019156934. —39°C

Question Number : 41 Question Id : 68019114644 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 19 &1 199 -78°C T Ud SHP SHU[S] I 3Gd R TTas 3ol K 8
ag 1Y o OR 719 & S{ULsf] 1 SHId RIFRI el FHoll 2K 81 &1, B

Options :

68019156931. 117°C



68019156932. 127°C

68019156933, —78°C

68019156934, —39°C

Question Number : 42 Question Id : 68019114645 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Five charges +q. +3g, — 2g, + 3g and —4q are situated as shown in the figure. The
electric flux due to this configuration through the surface Sis :

4g

Options :

68019156935. =0

68019156936.

68019156937. =0

68019156938, =0

Question Number : 42 Question Id : 68019114645 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

yeRid o & SR, Ui SaQ +q. +5¢, — 2q, + 3¢ TYUT—4g WIMUT §1 29
HUTGTTE & SR S Talg T 7oA ardl i o

68019156935, =0

68019156936, =0

68019156937. =0

68019156938. <0

Question Number : 43 Question Id : 68019114646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The effective resistance between 4 and B, if resistance of each resistor 1s R, will be

Qv rz\k‘f‘
.3 :_ﬂ,g ‘_jr":f
R L) R \ K2
; A A v‘\l‘\h’v/ AR I-J

Options :

68019156939. 3

68019156940. 3

68019156941, 3

SR
68019156942. 3

Question Number : 43 Question Id : 68019114646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g e WidRiY R g1 dl 4 9 B & &I o WidRiY o1 §IFTr:

nrz 4
QT y ...%xll‘r
P 1LY
RO RO RO \ RO
A

A

Options :



68019156939. 3

68019156940. -

L4
o|%

68019156941.

8R
68019156942, 3

Question Number : 44 Question Id : 68019114647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A proton and a deutron (g = +e. m = 2.0u) having same kinetic energies enter a
region of uniform magnetic field 5. moving perpendicular to p’. The ratio of the

radius ry of deutron path to the radius r,, of the proton path is :

Options :

68019156943, ¥2:1

68019156944, 1:+/2

68019156945. 1 : 2

68019156946. 1 : 1

Question Number : 44 Question Id : 68019114647 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

[ TS 3ol 1 U Ui ayT U6 SY2H (g = +e. m = 2.0u) U JHF
TEPY &7 B URIR H Y% Bl § aull 3’ & aradd T Dl g | SICH
qY Pt 24T r,, TUT IETH 9Y D B, &1 30T B

Options :

68019156943, 2 :1

68019156944, 1:12

68019156945.1: 2

68019156946.1 : 1

Question Number : 45 Question Id : 68019114648 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A square loop of side 15 cm being moved towards right at a constant speed of 2
cm/s as shown in figure. The front edge enters the 50 cm wide magnetic field at t =
0. The value of induced emf in the loop at r =10 s will be :
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Options:

68019156947. zero

68019156948. 0.3 ml”

68019156949. 3 ml”



68019156950. 4.5 mI”
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Options :

68019156947, L4

68019156948. 0.3 mI”

68019156949. 3 mV

68019156950. 4.5 mF”
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The following figure represents two biconvex lenses L and L, having focal length

10 em and 15 em respectively. The distance between L) & L, 1s

Options :

68019156951. 10 cm
68019156952, 15 cm
68019156953. 25 cm

68019156954. 35 cm
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Options:

68019156951. 10 cm

68019156952. 15 cm



68019156953. 25 cm

68019156954, 35 cm
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UV light of 4.13 €V is incident on a photosensitive metal surface having work
function 3.13 €V. The maximum kinetic energy of ejected photoelectrons will be:

Options :

68019156955. 1 eV
68019156956. 3.13 eV
68019156957. 4.13 eV

68019156958. 7.26 eV
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Options :

68019156955. 1 eV

68019156956. 3.13 €V



68019156957. 4.13 eV

68019156958. 7.26 eV
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In the truth table of the above circuit the value of X and Y are :

Options :

68019156959, 1. 0

68019156960. 0. 1

68019156961, U 0

68019156962, 1. 1
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Options :

68019156959, 1. 0

68019156960, 0. 1

68019156961, U. U

68019156962, 1. 1
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The I-¥ characteristics of an electronic device shown in the figure. The device 15 :

14

= > 17 (volf)

5(nd)
Options:

68019156963. a diode which can be used as a rectifier

68019156964, @ zener diode which can be used as a voltage regulator



68019156965. a solar cell

68019156966, @ transistor which can be used as an amplifier
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68019156963, [GEPRI & 39 T YU SIS

b " o

68019156964, AIeC sl WcieR & ¥U H Ugad U Wik SMAlS
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The magnetic field in a plane electromagnetic wave 1s

B, = (3.5 » 1077} sin (1.5 x 10%x + 0.5 x 10111)T. The corresponding electric field
will be :

Options :

. 9 ; A

T ' «10° 4 11 yvra-1
68019156968. EJ. =105 sin (1.5%10°x + 0.5 x 10" /)Vm

68019156969, E- = 105 sin (1.5x10°x + 0.5 x 101 £)vm!

— T @i 5 3 11 r-1
68019156970, E- = 1.17sin (1.5%10°x + 0.5 x 107" 1)Vm
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U GHAd [dgyddas®id il § JoiY &a
B, = (3.5 x 107) sin (1.5x10%x + 0.5 x 10'17) T 1 dgYd &= &N

Options :

x ' <103 4 § IPS |
68019156967 E, =117 sin (1.5x10°x + 0.5 x 10™* 1)Vm

- : «103% 4 11 j7o-1
68019156968. EJ. =10.5 smn (1.5%10°x + 0.5 x 10" {)Vm

68019156969, E-= 105 sin (1.5x10%x + 0.5 x 10M #)Vm’!

68019156970. E_, =1.17 s 'I:l.f! & 1'[}3_‘( + (0.5 = 11:}11 f}vrﬂ'l
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A force (3x% + 2x — 5) N displaces a body from x = 2 m to x = 4 m. Work done by
this force 1s J:

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 51 Question Id : 68019114654 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Monochromatic light of wavelength 500 nm is used in Young's double slit
experiment. An interference pattern 1s obtained on a screen. When one of the slits
13 covered with a very thin glass plate (refractive index = 1.5). the central

maximum 1s shifted to a position previously occupied by the gth bright fringe. The
thickness of the glass-plate 1s .
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A capacitor of reactance 4./3 () and a resistor of resistance 4 Q are connected in
series with an ac source of peak value 842 V. The power dissipation in the circuit
is W.
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. . . . 3 . . .
A straight magnetic strip has a magnetic moment of 44 Am*, If the strip 1s bent i a

AT ; . a g
semicircular shape, its magnetic moment will be Am-.

. 17 &
(grven n==)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 54 Question Id : 68019114657 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U% Gl graem Ut S Faeig Syl 44 Am? B1 3¢ 53 SISTAER i
4 His f&ar S ol ugt 1 s el Am? BT |

m% T :?:}

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count: Yes



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 55 Question Id : 68019114658 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
At room temperature (27°C). the resistance of a heating element 1s 50 Q. The

temperature coefficient of the material is 2.4 x 10~ °C™L. The temperature of the
element. when its resistance 1s 62 Q. 1s 5 5
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An electric field F'= (2xynve! exists in space. A cube of side 2m is placed in the
space as per figure given below. The electric flux through the cube 1s

2
Nm=/C.

N
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A particle of mass 0.50 kg executes simple harmonic motion under force

it p A B & . X y
F=-50 (Nm™1) x. The time period of oscillation 1s g The value of x 15

1%

(Given = =)
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A circular disc reaches from top to bottom of an inclined plane of length /. When 1t
slips down the plane. if takes ¢ s. When it rolls down the plane then it takes
\1/2

i ”
| -l t s. where a is

\ 2 )
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i : . — . ; :
The resultant of two vectors 4 and 7’ is perpendicular to 4" and its magnitude is

half that of 5. The angle between vectors ? and g’ is *
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To determine the resistance (R) of a wire. a circuit 1s designed below. The 7~
characteristic curve for this circuit 1s plotted for the voltmeter and the ammeter

readings as shown in figure. The value of R 1s Q.
1;.?
&
10 £€2
A
NE mA
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Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The candela 1s the luminous mtensity, in a given direction. of a source that emits
; o . . 2 .

monochromatic radiation of frequency 'A’ * 1012 hertz and that has a radiant

L Fiii i j | :
intensity in that direction of g Watt per steradian.

'A' and 'B' are respectively
Options :

68019156981. 450 and 683

450 and ]
68019156982. 683

68019156983. 540 and 683

540 and
68019156984. 683
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dedl f[Hdl Wid i dt T|_5F feen o Sifd digdn (luminous intensity) % Sl A
1012 §Cof 3M1afd &1 UHaull [dfaul B Ifoid Bl § forad! Saifd el
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'A'Ud 'B' § U
Options :

68019156981, 450 Ud 683

450 UG
68019156982. 9 &3

68019156983, 340 Ud 683

54
68019156984. 683
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The correct increasing order for bond angles among BF 5. PF5 and CIF; 1s :

Options :

68019156985, BF3 = PF3 < ClIF,

68019156986, PF3 < BF3 < CIF,



68019156987, CIF3 < PF3 <BF3

68019156988, BF3 = PF3 < CIF;
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BF;. PF; Ud CIF; § 3{Ta= S0 B Ugl 96l 4 o

Options :

68019156985, BF3 = PF3 < ClIF,

68019156986, PF3 < BF3 < CIF4

68019156987, ClF3 <PF3 <BF;

68019156988, BF3 =PF; < ClIF;
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. iqn . . R
For a sparingly soluble salt AB,. the equilibrium concentrations of A" ions and

B~ ions are 1.2 x 10~"M and 0.24 = 10~ M. respectively. The solubility product
of AB,1s:

Options :

68019156989, 6.91 x 10712



68019156990, 27.65 = 10712

68019156991, 0.069 = 10712

68019156992, 0.276 = 10712
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fep il 3reufdca Tiaul AB, & oI, A% Ud B~ il THITGRIT FI5idld ShHTE:

1.2 x 107*M T4 0.24 x 102 M B | AB, &1 [d0adl [UHDA &:

Options :

68019156989, 6.91 x 10712

68019156990, 27.65 = 10712

68019156991. 0.069 = 10712

68019156992, 0.276 = 10712
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Match List I with List II

LISTI LISTII
(Cell) {(Use/Propertyv/Reaction)
A |pactsntecai | C,Dn_x'e_rts energy of combustion 1nto electrical
energy
B. |Ni- Cd cell e D{:-es not Ltl‘:'Dl‘.'-f_‘ any 1on 11 solution and 1s used
in hearing aids
C. |Fuel cell I[II. |Fechargeable

D. |Mercury cell IV. |Reaction at anode Zn — Zn®™ + 2~

Choose the correct answer from the options given below:
Options :

68019156993, A-L. B-II. C-III. D-IV

68019156994, A-IV. B-III. C-I. D-II

68019156995, A-III. B-I. C-IV. D-II

68019156996, A-IL. B-III. C-IV. D-I
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D. (A Td | 1IV. [UHIS W 3if¥fehdl zn — Zn?™ + 26
- f¢u U faeeni O ¥ 98l S Bl I

Options:




68019156993, A-I. B-II. C-III. D-IV

68019156994, A-IV. B-III. C-I. D-II

68019156995, A-IIL. B-I. C-IV, D-II

68019156996, A-II. B-III. C-IV, D-I
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Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which out of the following is a correct equation to show change in molar
conductivity with respect to concentration for a weak electrolyte. if the symbols
carry their usual meaning :

Options :
1
68019156997 Am~ A m +AC2 =0
|
(&} . ; -
68019156998, Am— A m —AC==0

. 2 .
68019156999, Y mC KA, +KGAZA | =0

68019157000 A mCHKGA, — KA A =0
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Correct Marks : 4 Wrong Marks : 1
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%wﬁ&g‘g;mmmﬁwﬁaﬁﬁuﬁhw?ﬁu&%w 2peff

Options:

1

68019156997, Am~ A ;n +AC2 =0

bD | —
I
o=

68019156998, Am— A m — AC

p. '-2' i o
68019156999, N mC ~KuA L +KApmA =0

68019157000 A mCHK A, — KA LA | =0
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The electronic configuration of Emsteinium is :

(Given atomic number of Emstemium = 99)
Options :

Z i
68019157001, [Ra] 5£'% 6d° 75
68019157002, [Ra] 5£' 6d° 757

68019157003, [Rn] 5£1¢ 6d° 7s*

Ry
68019157004, [Rn] 5~ 6d° 7s



Question Number : 66 Question Id : 68019114669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HISHele g Pl gaae Hd (4O &
(e TR §: SIEeTE g P URHTY] HHIE = 99)

Options :

ki

u ¥, |
68019157001, [Rn] 5"~ 6d° 7s

-

oy

-11 &
68019157002, [Rn] 5£°7 6d° 7s

-10 o L
68019157003, [Rn] 517~ 6d° s

-3 o
68019157004, [Rn] 5f°- 6d° 7s

Question Number : 67 Question Id : 68019114670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

1ISTI LISTII
Element) |(Electronic Configuration)
AN I |[Ar] 3417 45 4p°
B.[S IL. |[Ne] 357 3p®
C. |Br IIL |[He] 252 2p°
D. |Kr IV. |[Ar] 3d10 452 4p®

Choose the correct answer from the options given below:

Options :



68019157005, A-I. B-IV. C-III. D-II

68019157006, A-IV. B-1II. C-II. D-I

68019157007, A-IIL. B-II. C-I. D-IV

68019157008, A-II. B-I. C-IV. D-III

Question Number : 67 Question Id : 68019114670 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tl 1 1 i gl 1 d B

g 11

@@ o=
AN L |[Ar] 3d10 457 4p
B.|S IL |[Ne] 382 3p*
C. |Br I |[Ee] 252 2p3
D. |Kr IV. |[Ar] 3d10 457 4p5
- feu 7Tt famedl & 9 Hel SR @f I
Options :

68019157005, A-I. B-IV. C-III. D-II

68019157006, A-IV. B-1II. C-II. D-I

68019157007, A-IIIL. B-II. C-I. D-IV

68019157008, A-II. B-I. C-IV. D-III



Question Number : 68 Question Id : 68019114671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
A |[Melting Point [K] I [Ti=In=Ga=Al=B
B. |lonic Radius [M™/pm]| II. [B>TI=Al=Ga>In
C. [AH; [kI mol™] Il |T1>In>Al>Ga>B
D. |Atomic Radius [pm] IVIB=Al=Tl=In>=Ga

Choose the correct answer from the options given below:
Options :

68019157009, A-IV. B-1. C-II. D-III

68019157010, A-IIL B-IV. C-I. D-II

68019157011, A-IL. B-III. C-IV, D-I

68019157012, A-I. B-IL. C-III. D-IV

Question Number : 68 Question Id : 68019114671 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 T e =l 11 9 6

T I T
A [TITHI® [K] L |ITlzIn>Ga=Al>B
B. [3ma® B (M3 /pm]| IL [B>TI>Al=Ga>In
C. [AH, [kT mol™] L |T1>In>Al>Ga>B
D. |YZH] 4T [pm] IV.[B=Al>Tl>In>Ga

2 Ry Riwed 4 A o SR P



Options :

68019157009, A-IV. B-1. C-II. D-III

68019157010, A-IIL B-IV. C-I. D-II

68019157011, A-IIL. B-III. C-IV, D-I

68019157012, A-IL. B-II. C-III. D-IV

Question Number : 69 Question Id : 68019114672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Give below are two statements :

Statement I : The higher oxidation states are more stable down the group among
transition elements unlike p-block elements.

Statement IT : Copper can not liberate hydrogen from weak acids.

In the light of the above statements. choose the correct answer from the options
given below

Options:
68019157013. Both Statement I and Statement II are true
68019157014. Both Statement I and Statement II are false

68019157015. Statement I 1s true but Statement II 1s false

68019157016. Statement I 1s false but Statement II 1s true

Question Number : 69 Question Id : 68019114672 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I ERIEACLRIEE

U1 : p-1P dcdl b [AURIE. hTul ddl ¥ 9Ug O A" 314 IR 3=
HTeftep T Srawmd 3ifdre il gt §1

HYF I : PR gad 3| U SI5S oA HHad Fo! DRI Ghdl 5

Sugad Y & e F A= Gy Y fad el & A Falfts Suged 3w

Options :

68019157013, GIFl @YU 1 GYT HYUF II T8l ¢

68019157014, Gl HUF I dUT HYUF 11 7Tad § |

68019157015, PUT1 TEI ¢ TR~q U 1 T0d €|

63019157016, U 1 TTCId 8 U¥~q Y- 11 ¥51 & |

Question Number : 70 Question Id : 68019114673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

: 1 ; R T e 3 "
The coordination environment of Ca“" ion in its complex with EDTA* " is :
Options :

68019157017. tetrahedral

68019157018, square planar

68019157019. octahedral



68019157020, trigonal prismatic

Question Number : 70 Question Id : 68019114673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

EDTA*~ & 1Y §4 9%d U Ca2” P IUHHIISH URAY &

Options :

68019157017, 94°PC !

68019157018, @1 GHdg

68019157019. 9 QEliﬂfﬁ 4

68019157020. HBIUIT [U=H™

Question Number : 71 Question Id : 68019114674 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
A KN (CN,] | L |sp?
B. [[Ni(CO)] IL |sp>d?
C. |[Co (NH5)g]Cls| III. dsp2
D. |Na; [CoFg]l IV. |d?sp’

Choose the correct answer from the options given below:
Options:

68019157021, A-I. B-III. C-II. D-IV



68019157022, A-III. B-II. C-IV, D-I

68019157023, A-IIL B-I. C-IV. D-II

68019157024, A-III. B-I. C-II. D-IV

Question Number : 71 Question Id : 68019114674 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

il 1 T foe =l 11 A D
¥ 1 T I

A KNI (CN),] | L |sp?

B. |[Ni(CO)4] IL |spid?

C. |[Co (NH3)]Cl3| IIT dsp2

D. |Naz [CoFg] IV dzspg

- fau U fasedl O 9 el SR &
Options :

68019157021, A-L. B-III. C-II. D-IV

68019157022, A-IIL B-II. C-IV. D-I

68019157023, A-III. B-I. C-IV. D-II

63019157024, A-IIL. B-I. C-II. D-IV

Question Number : 72 Question Id : 68019114675 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
(Test) (Observation)
A |Br; water test [. |Yellow orange or orange red precipitate formed
B. |Ceric ammonium nitrate test| II. |Reddish orange colour disappears
C. |Ferric chloride test I11. |Red colour appears
D. |2, 4 - DNP test IV. |Blue, Green, Violet or Red colour appear

Choose the correct answer from the options given below:
Options :

68019157025, A-IL. B-III. C-IV. D-I

68019157026, A-IIL. B-IV. C-I. D-II

68019157027, A-IV. B-1. C-II. D-III

68019157028, A-I. B-II. C-III. D-IV

Question Number : 72 Question Id : 68019114675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

il 1 T foei 9=l 11 9 &6

A T I

(& (H&fon)
A |Br, 5@ Tdtem I |dararet o arefard sadg s9ar o
B. [af® smifge Tigce udigm| 1. [ara-are 1 mae g1 S g
C. (PR FaREs Tdiam Il RIGEURERGIE
D. |2. 4 - DNp GT&TT IV, [, g0 &= a1 ar| S Sdd sidl o
- feu T fawed! # I el SR &l +:

Options :



68019157025, A-IL. B-III. C-IV. D-I

68019157026, A-III. B-IV. C-I. D-II

68019157027, A-IV. B-1. C-1I. D-III

68019157028, A-L. B-II. C-IIL. D-IV

Question Number : 73 Question Id : 68019114676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct stability order of the following resonance structures of
CH; -CH=CH-CHOis

03 e A
e | B
CH3~CH ~-CH=C-H+ CH;-CH -CH=C-H<« CH;-CH=CH-C-H

I I IT1
Options :

68019157029, Il =11 =1
68019157030. I = II = III

68019157031, II = III =1

68019157032, II = I = III

Question Number : 73 Question Id : 68019114676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



CH, - CH = CH - CHO & HHfeifd 3ff1g TRa1sfl & iiid o1 Fel A
Gt

0 :0:0 :0:
e 5 | |
CH3-CH -CH=C-H& CH;-CH -CH=C-He CH;-CH=CH-C-H

[ | 11
Options :

68019157029. Il =11 =1

68019157030. I = II = III

68019157031. II =III =1

68019157032. II = =1II

Question Number : 74 Question Id : 68019114677 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The incorrect statement regarding ethyne is

Options :

68019157033, Ethyne is linear

68019157034, The corbon - carbon bonds in ethyne is weaker than that in ethene

68019157035, Both carbons are sp hybridised

68019157036, LThe C — C bonds in ethyne 1s shorter than that in ethene

Question Number : 74 Question Id : 68019114677 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ST Y TG Tad HY o
Options :

68019157033, SUIE1 XWIT B

68019157034, 3415 H. QUM @1 o H, PHla-Pa- a4 gaai ¢ |

68019157035, &Il B PIE sp HHRA &

68019157036, U415 H. TIH & o1 1, ¢ — ¢ 3154 BieT 6|

Question Number : 75 Question Id : 68019114678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Br
% Major Product P

OCH;

In the above reaction product 'P' is

Options:

68019157037. OCH;

68019157038, OCII;



OCH;
68019157039.

OCH;
CN

68019157040.

Question Number : 75 Question Id : 68019114678 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Br
K{‘:\;{alc} TIRG IS P’

OCH;
SRiTd ANFT E IS P 8
Options :
CN
68019157037. OCH;
CN
68019157038, OCT;

68019157039.



CN

OCH;

OCH;
CN

68019157040.

Question Number : 76 Question Id : 68019114679 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total number of stereo 1somers possible for the given structure :

Options:

68019157041. 8

68019157042. 3

| ]

68019157043.

68019157044. 4

Question Number : 76 Question Id : 68019114679 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 715 W9 & fog, Bfen gaTagal @1 po GHifad 9 6
Br

Options :

68019157041. &

68019157042. 3

| ]

68019157043.

68019157044. 4

Question Number : 77 Question Id : 68019114680 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compounds will give silver mirror with ammoniacal silver
nitrate?

A. Formic acid
B. Formaldehyde
C. Benzaldehyde
D. Acetone

Choose the correct answer from the options given below :

Options :

68019157045, A only

68019157046, B and C only



68019157047, C and D only

68019157048, 4. B and C only

Question Number : 77 Question Id : 68019114680 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

frfefad il & @ 3 smifusd e A5 de & T I99d 2407 SaT §:

-9 fu T fowent # 9 el S I

Options :

68019157045, hdd A

68019157046, POT B Td C

68019157047. P94 C Yd D

68019157048, PO A, BT C

Question Number : 78 Question Id : 68019114681 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following compound can give positive iodoform test when treated
with aqueous KOH solution followed by potassium hypoiodite.



Options :

68019157049, CH; CH, - C~CH, CH,

/N

68019157050, CH CH, ~ CH —CH,

Cl
CH, CH,~C ~CH,

68019157051. Cl

68019157052, CH; CH, CH,CHO

Question Number : 78 Question Id : 68019114681 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fA=fafad 3l 8§ 3 o1 YATdS ATTSIHIH U141 <11 Od 39 Jeid KOH
fgeTa- deraRrd Uiy gIsulaIsse & 91 Su=iid a1 §ar g2

Options :

O

|
68019157049, CH; CH, - C~CH, CH,

/N

68019157050. CH,CH,-CH-CH,

Cl
CH, CH,-C~CH,

68019157051. Cl



68019157052, CH; CH, CH,CHO

Question Number : 79 Question Id : 68019114682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Major product of the following reaction is

CN
(1) Cll3MgDBr (excess) .
(i) Hy0"
CO,CH,;
Options :
N
P

72 .
68019157053, O CH;

CN

HO CH,

68019157054, CH;

68019157055.



UQQJ,CH3
.
C0,CH,
UQ:”H,CH3
c
Ho | “CHy
68019157056. CH;

Question Number : 79 Question Id : 68019114682 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i sifiifehar & foe &g g &:
CN

(1) ClI3MgBr (cxeess) 5
(i) Hy0"

CO,CH,4
Options:
CN
c
N
68019157053. O CH;y

68019157054.



CN

CH,

68019157055,  CO,CH;

uqbﬂcha
c
Ho | “CHy
68019157056. CH;

Question Number : 80 Question Id : 68019114683 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The incorrect statement about Glucose 1s :

Options :

68019157057. Glucose iz an aldohexose

68019157058, Glucose 1s soluble in water because of having aldehyde functional group

68019157059, Glucose remains in multiple 1someric form in its aqueous solution



68019157060. Glucose 1s one of the monomer unit 1n sucrose

Question Number : 80 Question Id : 68019114683 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TqH I & R H TTAd YA o

Options:

68019157057, TP U UtSgadd gl

68019157058, TP Sl H gaeiiel & ifes 39H UleSeIgs fharere Jig Ul Sl g |

68019157059, *IPIY 30 Gieid faer1 H &g GHIagd] Ui H Ui |idl |

68019157060, TIPTH. ebI¥H & TDHaidh Sohlgdl H U T &

Chemistry Section B

Section Id : 680191280
Section Number : 6

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 680191370
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 81 Question Id : 68019114684 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Based on Heisenberg's uncertainty principle. the uncertainty in the velocity of the
electron to be found within an atomic nucleus of diameter 1071° m is X
10° ms™! (nearest integer)

[Given : mass of electron = 9.1 ¥ 10! kg, Plank's constant (/1) = 6.626 x 107>% Js]
(Value of n = 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 81 Question Id : 68019114684 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

BIEoHa ST & SR, 1071 m ST dTd WRHEM] 1146 & UIe 9H ard
W%%ﬁm% < 10° Ills_lmﬂwfh

[ﬁmw%’: $ﬁqu-1W§ouHH =01 x 10731 kgtw : -
3 Js] N
(Value of 1= 3.14)

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019114685 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Total number of electrons present mn (7*) molecular orbitals of O,. O, and O, 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 82 Question Id : 68019114685 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
0,, 0,” Td 0, & (x*) HIfUaP Peafehi T UIT o aTdl Sea -1 Bl el ST o

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1



Question Number : 83 Question Id : 68019114686 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

When AH ., = 30 kl/mol and AS,, =75 ] mol~'K~L, then the temperature of

vapour, at one atmosphere 1s K.

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 83 Question Id : 68019114686 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

| ﬂHTap = 30 kJ/mol T ﬁSTap = 75 T mol™ 1K™} % Gl TP atm UX dI™ P d4
& K.

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019114687 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The vapor pressure of pure benzene and methyl benzene at 27°C 1s given as 80
Torr and 24 Torr. respectively. The mole fraction of methyl benzene in vapor
phase. i equilibrium with an equimolar mixture of those two liquids (1deal

. . e | .
solution) at the same temperature 1s « 107 (nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 84 Question Id : 68019114687 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

27°C WR [G &4 Ud DY a-6i14 &1 a1 16 $HST: 80 Torr UG 24 Torr
gy a1 H AT S-oi- &1 Hid U, Sff 99 dd R 5 &1 a1 &
guaieR o (el foaaT) & 9y e E e, © <1072
(FMecan guiie H)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 68019114688 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Consider the following first order gas phase reaction at constant temperature
A(g) — 2B(g) + C(g)

If the total pressure of the gases 1s found to be 200 torr after 23 sec. and 300 torr
upon the complete decomposition of A after a very long time. then the rate

constant of the given reaction is x 1077 &1 (nearest integer)
[Given : logyg(2) = 0.301]

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 85 Question Id : 68019114688 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fRR a9 W) uy" $ife ot Fefafad Ty gaw sfifea &) iR 3

A(g) — 2B(g) + C(g)

Tl 711 B Gt &1d 23 Y$S 1€ 200 torr T4 PIPI Tl SR & a1¢ A D 0
3HUYE & DRI 300 torr YT I § ol o s AN(HAT 1 AR &

8 R
[T TR : log;4(2) = 0.301]
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

1



Question Number : 86 Question Id : 68019114689 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A transition metal M' among Sec. Ti. V, Cr. Mn and Fe has the highest second

ionisation enthalpy. The spin-only magnetic moment value of M ion 18
BM (Near integer)

(Given atomic number Sc : 21, T1: 22, V: 23, Cr: 24, Mn : 25, Fe : 26)
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 86 Question Id : 68019114689 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Sc. T. V. Cr. Mn Ud Fe & § fo2t AepHur 41q M &1 fgaia sma=H el
aiiYe g1 M~ 3 BT 'Y= Ul A1 THEH I Y0 - BM (H@ead
quifes )

(Fean T B: URATY $6ieh: Sc : 21, Ti: 22, V: 23, Cr: 24, Mn : 25, Fe : 26)

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
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Possible Answers :
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Question Number : 87 Question Id : 68019114690 Question Type : SA Calculator : None



Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Consider the following test for a group-IV cation.
M2+ H,8 — A (Black precipitate)+ byproduct
A+ aquaregia — B + NOCL+ S +H,O

B + KNO, + CH3;COOH — C + byproduct

The spin-only magnetic moment value of the metal complex C 1s BM
(Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 87 Question Id : 68019114690 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

THE-IV Y18 & 7 R4 IR fqaR ST

MZ™ + H,S — A (BTEl 3{d&T) + 3Uldig

A+Qﬂﬂ1€| 9T — B+ NOC1 + S +H,0

B + KNO, + CH;COOH — C + 3Uldig

WCE'WW'WWWEW%: BM (Maedd

)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal



Text Areas : PlainText

Possible Answers :
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Question Number : 88 Question Id : 68019114691 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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I—) Bottom

In the given TLC., the distance of spot A & B are 5 em & 7 cm. from the bottom of
TLC plate, respectively.

Revalue of B is x x 107! times more than A. The value of x is
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 88 Question Id : 68019114691 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric

Evaluation Required For SA: Yes

Show Word Count : Yes
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Question Number : 89 Question Id : 68019114692 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Number of oxygen atoms present in chemical formula of fuming sulphuric acid is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :



Question Number : 89 Question Id : 68019114692 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

YT YRR 3 & 9 § Sufyd SiTafer e &t Tem .
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Evaluation Required For SA : Yes

Show Word Count : Yes
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Question Number : 90 Question Id : 68019114693 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of compounds from the following which cannot undergo Friedel-Crafts
reactions 1s:

toluene. mitrobenzene. xylene. cumene. aniline. chlorobenzene. m-nitroaniline.
m-dinitrobenzene

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1

Question Number : 90 Question Id : 68019114693 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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